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THE TORSION OF A COMPOSED CIRCULAR ROD WITH A
RADIAL CRACK

L. A. HARUTILINEAN, J. O, APIKIAN
S omeaFey

The problem of the torsion of a composed prismatic circular rod,

formed out three different materials with a radial crack between them is
considered.

The problem ls solved with the aid of stress function. In order to
determine the unknown coefficients, finite expressions are obtained. The
order and the coeificient on singularity of stresses in the neighbourhood
of the point of joint of three materiais are studied.

The values ot stresses on the radial lines are calculated, The ana-
lysis of numerical invesiigation is carried out.
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